® AB=FD @ ¢ACB = /FED

® /ABC = /FDE @ BC =DE

® AC=FE



2. T a9 e AABC ¢ ADEF 7} &5 of,
o] 2715 Fstoizt

D

E o] Zelet /D



3. the 7l A 0% 2421 ABC 9] 9l4delth. AB = 16cm Y
W), xo] Zoli=?

@ 4cm @ 6cm @ 8cm @ 10cm ® 12cm



4. H O7}aABC 9 9AHL wff, z1x 9 Z7]=2

A

B 30

Q

@® 15° @ 20° ® 25° @ 30° ® 35°



the 24 A O & AABC €] @]4o|t},
/BOC = 140°¥ 1w, /BACE 5} e}.

A

140°

Q



6. the IgelA A 17 AABC O] WAIY H, 1] ghe Fteler.




7. o= 2T E2 AABC 9 ot 96em® & o, W H ] HEx]F2]
dolE Fstofz=t.




8.

@D lcm @ 2cm ® 3cm @ 4cm ® 5cm



9. o& A H 0= AABCY 2JAlolth AB = 10ecm |1, AAOB
ol E¢|o] do|7l 24em Y W, AABC Q] 2] o] vtz &5 9] Ho|=?

@ 3cm @ 4em ® 5em @ 6cm ® 7cm



10. o I"4 " O 7} aABC 9] &A1Y o, 2x 9] 3717

A

100°

@® 10° @ 20° ® 30° @ 40°

® 50°



